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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) el Geve HT TEH-0F T T Ed: o |

Candidate must write first hisher Roll No. on the question paper

compulsorily.

2) Wt T B H AFEE € |

All the questions are compulsory.

\3‘]3 T T 1 I A T IR & & o |

Write the answer to each question in the given answer-book only.
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4) TR oA § o=l @ve €, 3 oft ¥ I o a @ o |

)

6)

7)

8)

For questions having more than one part, the answers to those parts are to be

written together in continuity.

TH-99 & fer & it wuiae 3 R ghR 1 T/ IR/ femma g = 7
WTST & 99 ! &) & 9 |

If there is any error/difference/contradiction in Hindi and English versions of

the question paper, the question of Hindi version should be treated valid.

Y 1 IR o A qF I 1 shEiE e fad |

Write down the serial number of the question before attempting it.

v FHE 14 @ 20 76 8 A= faehed 8 |

There are internal choices in Question Nos. 14 to 20.

St - a3 o faan | AR w6 wE wen @, &
m—gﬁ#&%aﬁnq@maﬁaﬂtﬁﬁt@ﬁaﬁﬁﬁmmw T FE
foa < |

Write on both sides of the pages of your answer-book. If any rough work is

to be done, do it on last pages of the answer-book and cross with slant lines

and write ‘Rough Work’ on them.
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SECTION - A

(Fefreda e T A ST o)
(Multiple Choice Questions and Very Short Answer Type Questions)

%) ﬁé%éﬁmuw(iﬂxviii)%mwaﬁﬁmwmm-@wﬁ
fafge |

Choose the correct option to answer the following multiple choice questions
(i to xviii) and write in the answer-book.

i) 400 % Y UHETE! ) TTal H ITHSA 2 1]
I} 4 ) 9 ) 6 <) 8
The sum of powers of prime factors of 400 is
A) 4 B) 9 L) 6 D) 8

ii) afe wgue 2x2 + x + k 1 0F Y 3 2, A k H T g 1]
A) 12 ) 21 q) 21 3 12
If 3 is a zero of the polynomial 2x2 + x + k, then the value of k will be
A) -12 B) 21 £) 21 D) 12

iii) T QY SR TSN TR W A xTEEFIAF Yy, AR 1]
A) (10x+y) &) (I0y+x) ¥) (x+y) q) 10xy
In a two digit number, the unit digit is x and the tens digit is y, then that
number is
A) (10x+y) By (10y+x)~ C) (x+y) D) l0xy

iv) afa AABC ~ADEF® Td AB= 109, DE=8&fi @, @1 BC:EF &8 (1]
A) 8:18 q) 4:5 4 9:4 Q) 5:4
If AABC ~ ADEF and AB = 10 ¢cm, DE = 8 ¢m, then BC : EF 1s
A) 8:18 B) 4.5 C) 9:4 Pys5:4
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v) @ fag 0(0. 0) ¥ farg P(-3, 4y B 1 2

A) 5 ) J7 q) 7 ) |
Distance of point P(-3. 4) from origin O(0. 0) is
A S B) 7 C) 7 D) 1
vi) cosec?45° — cot?45° ST B
A V2 ) 1 g) 0 ?) 2V2
cosec?45° — cot?45° equals
A) 2 Byl C) 0 D) 242
vi) % Ittt @ $I TR, @ 6 F9E & R 2, a1 g§ F 395
i
H) 60° q) 30° q) 90° g) 45°

The shadow of a vertical pillar is same as the height of pillar. then the
angle of elevation of sun is

A) 60° B) 30° C) 90° Dy 45°

viil) T fog PY 0% 99 W T @1 1 a1 24 T 99 PH S A gl
2581 3 | 99 T = 2
3) 7@ ¥) 149 T) 358 T) 1l

From a point P, the length of the tangent to a circle i1s 24 cm and the
distance of P from the centre is 25 cm. The radius of the circle 1s

A)7cm B) 14 cm C) 3.5cm D) Iem

ix) T g9 ® frsan 7 Aft R, 39 99 S UF SqUIN W AH §
#) 38582 ®) 77@A @) 154T- ?) 44 9hi-

The area of a quadrant of a circle whose radius 15 7 ¢em s

_A) 385cm? B) 77 cm? C) 154cem D) 44cm?
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x) IR O v b B 14 f qu fodw e 10 3f 3, @ W A1 T

T HIRA 2 (1]
;) 220 32 ) 110342
H) 440 T2 T) 140 T2

If the radius of a cone is 14 cm and slant height is 10 cm, then the
curved surface area of the cone is

A) 220 cm? B) 110 cm?
C) 440 cm? D) 140 cm?

xi) Frerfafigd § & SH-d e R w6 wikeea T@ 8 ehdl ? (1]

) % 1) % ) 0.7 2) 0.5
Which of the following number cannot be the probability of any event ?
A) % By % C) 0.7 D) 0.5
xii) afe 21 ufda Tmatt % 1Y HCF = LCM, at deand e gt =ifee. (1
) W ¥) WA
) 39 T) HEAVH
If HCF = LCM for two rational numbers, then numbers always should be
X) Composite B) Equal
9}_’ Prime B) Co-prime
xiii) a2 U FETd WU F YR HI AN U IAES FAL S T 68, @
fgama wgwg 2 1]
A) x2+5x+6 q) x2+6x+5
g) x2-6x+5 ) X°-5x+6

If the sum and product of the zeros of a quadratic polynomial are 5 and 6
respectively, then the quadratic polynomial is

A) x2+5x+6 B) x2+6x+5
C) x2—06x+5 D) x?-5x+6
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xiv) ko fopq 7R % f wefteor qm x +y -4 =0, 2x + ky - 3 = 0 1 I3

&1 TRl B 7 (1]
) 0 |) 2 ) 6 Q) 8

For which value of k, linear pair x +y -4 =0, 2x + ky —3 =0 has no
solution ?

A) 0 B) 2

C) 6
xv) A
&0

fou wu fa3 § AB =28, ZA =50°, AC =4 4w, DE =3 4,
/D =50° 3(R DF = 6 9+t & | afe BC =3t &, o) EF I A9 2

F) 4589h  w) 6T ) gart g) 5at

4 cm 6 cm

3cm

In the given figure, AB =2 cm, ZA = 50°. AC = 4 cm, DE =3 cm,
£ZD =50°and DF = 6 cm, If BC = 3 ¢m, then the measurcment of CF is

Ay 4.5cm B) 6cm ) 8cm D) 5c¢m
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xvi) sin2A =2 sinA 7€ e BN R, S AT 7 1]
A) 0° ) 30° ) 45° ) 90°
sin2A = 2 sinA is true, when A equals
A) 0° B) 30° C) 45° D) 90°
. 12 A H 1
xvii) If¢ cosA = 3 2, @ sinA &1 7 (1]
13 3 5 13
i —_ q9) —= ok
12 RURT: ) 13 %) 5
If cosA = %, then the value of sinA is
13 el S 13
A 5 B2 ¥ D) =
xviii) T a6 fire 6 TE g 5 e § g W Iaka wiv R (1]
w) 30° ) 60° 7) 2% 2) 10°
The angle subtended at the centre by the minute hand of a clock in
5 minutes is
o]
&) 30° B) 60° C) 2% D) 10°

%ﬁmﬁﬁﬁuﬁ(iﬁw)ﬁﬁﬁwﬁ@@mgw-@aﬂﬁ%ﬁﬂm

/, Fill in the blanks in the following questions (i to vi) and write them in the
answer-book.

i) afe 18,a, 10TATR S A @, A a= | (1
R (; 18, a, 10 are in arithmetic progression, thena=__ .
i) g PO, 3) s frg QG P g Ffdws 1 (1]

523 The co-ordinates of the mid point of point P(7, -3) and point Q(3, 9) is

iii) sin60° cosec60° + cos30° sec30° 1 U 2| [1]
®  The value of sin60° cosec60° + cos30° sec30° is
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V) U 3 S A 14 Aeh 2, ) T rpt g AEhd

g | 1]
If the diameter of a solid hemisphere is 14 ¢cm, then its total surface area
1S
%
V) W& 1.4.5,6.4.7,9,2,4. 3, 5 gD g | (1]
The mode of the distribution 1.4.5.6.4,7.9,2,4,3.51s
vi) R ol arroe % frw of fmg 172 1 afe saft onf w24 8, @ faeett
&
T " 2 (1]

The class mark for any class interval is 17. If the upper class limit is 24.
then the lower class limit is

3. fa egeers I (i ¥/ xii) |

Very short answer type questions (i to xii).

i) afe wh g i s 14 et @ e =9 ) owg 22 9t 8, a1 39 =
9°  ZRT ¥g W NG HIU Fd HIAT | 1]

If the radius of a circle is 14 ¢cm and the length of the arc i1s 22 cm. then
find the angle subtended by the arc at the centre.

/m AfE T 1 F T TR %S 864 T Tl g, A THH TH B Bl
TN Wmmm| 1]

If the total surtace area of a cube is 864 square c¢m, then find the surface
area of one of its faces.
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iii) = ST §24 1 A1 J i | (1]
X 3 5 7 D
f O 7 5 O
Find the median ol the Tollowing frequency distribution,
X 3 5 7 9 |
' _;’___7 5 6


https://www.rajasthanboard.com/

% 9

—) T% T I Th 91 B T 5 & §I1 37k 1 A wifresar 3ia hifwe | 1]

T Ina single throw of a die, determine the probability of getting a number
more than 5.

V) Th TG g 3 dod @ e i onm S & € ) afe v+
St R 66 TF WY R, A AT B JRTH F9 g | 1]

A right circular cone and a cylinder are of equal radius and equal height.
If the volume of the cone is 66 cubic cm, then find the volume of the
cylinder.

i) T atfes! &1 s 3/ i | (1]
19, 17, 25, 27, 18, 20, 29

Find median of the following data,
19,17, 25,27, 18, 20, 29

_xii) @ Raemt v 3 v w1 U B Wed & | 98 7 2 % T g
5 ﬁﬁsﬁﬁﬁﬁuﬁm%‘élm%aﬂﬁﬁzﬁnﬁmmmn (1]
Two players Ram and Shyam play a chess match. It is given that

probability of winning the match by Ram is g Find the probability of
winning the match by Shyam.

_yit) R uli, T | e A e 23t R, % Fom waret 1 e o

G
3 Y ST AT ¢ | 3HE AT 94T ST 3T §ia hife | 1]
A solid cuboid is formed by joining the adjacent faces of two cubes,
each of side 2 cm. Find the volume of the resulting cuboid.
"/ L] "
_ixj YA T8 YT fo ST A1 1 Wi e { A | 1]

e . . . -
Find the arithmetic mean of the first ten positive odd natural numbers.
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X) @ﬂéﬁé%ﬂaamﬁﬁﬁi%lﬂﬂéﬁﬁ@ﬁaa@wﬁmﬁ
3 3 Pl ™ e 1 gHe g1 § wfawd @ HifT | 1]

A bag contains 6 red and 7 white balls. From this bag, onc ball is drawn
randomly. Find the probability that the ball released is white.

ﬂ%wémaﬁfhéwamq@haﬁwswaﬁﬁrﬁ%,aﬁmm
" & fr=n @ fifae 1]

If the curved surface area of a solid hemisphere is 50 7 square cm, then
find the radius of that hemisphere.

ii) aﬁ5,7,9,4.3,(x+2)anmmwas‘r,a&xmmmﬁﬁq Lo 1]
¢ If the arithmetic mean of 5.7,9, 4.3, (x +2) 15 6, then find the value of x.

@og -9
SECTION -B

(ST Ie T¥A)
(Short Answer Type Questions)

A TE 12, 15 37 21 %1 3eY UGS fafd g HCF 3t LCM 7 i | 2]
4.0 Find the HCF and LCM of 12, 15 and 21 using the prime factorisation method.

x5 afy fzam wgwe 3x2 - 5x + 9 % YFH o 3N B, dl (o + B) T op T HITAT | (2]
% > If « and B are the zeros of the quadratic polynomial 3x2 - 5x + 9. then find
(o + B) and of.

5 fadm= fufy =1 s e, Ft s afiem gm & o avd ' T A (2]
w < 3x+5y=7
-z
6x +y=-4
Use elimination method to find all possible solutions of the following pair of
linear equations :
3x + 5y =1
6x +y=-4
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A SRR OAG 7,13,19,....,205 % W& H den 3@ fif | 2]
™ Find the number of terms in arithmetic progression 7, 13, 19, . . . . . 205.
A
A 12]
‘ (x+2) 4
D > E
4 8
B > C
& 78 3pfa & DE | BC R, &t x 1 74 §1d AR |
A
(x+2) 4 ‘
D > E
6 8
B > C

In the given figure, DE || BC, then find the value of x.

/sv fagatl (5, 3) 3 (-3, -2) i A TTen Y@rEvs x-318 gRI few e o

']
"

., T g & 2 L 2]
In which ratio, x-axis divides the line segment which joins points (5. 3) and
(_39 _2) ?

10: 4cot245° — sec?60° + sin260° 1 99 14 Fifw | |2]

Find the value of 4cot?45° — sec?60° + sin260°.
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yzlzﬁamwxﬁaﬁ,wawfmw%ﬁqugaﬁ% | e 7 el
T WY 60° T FN T 2, A e H S 7@ A | 2]

A 12 meter long ladder touches the top of @ vertical wall. If this ladder makes

an angle of 60° with the wall, then find height of the wall.

é

2]

) D/R\C

A

W

B

e g4 ¥ TR Tk <@ ABCD @i mn ¢ | firg shifsie 5 AB + CD=AD + BC |

S

Dr/R\C

A

A quadrilateral ABCD
AB+CD=AD + BC,

\

B

is drawn to circumscribe a circle. Prove that

_13. 9N % 9N g0 g9 % ey W IRA S 50° R | A 9 ) @ sp 3 A,

1@ Fﬁ‘ﬂﬁﬁﬁﬁﬂlm

Hifer | 12}

The angle subtended at the centre by an arc of a circle is 50°. If the length of
the arc is St cm, then find the radius of that cirele.

S-(9-Mathematics


https://www.rajasthanboard.com/

ECLERR |
SECTION — C
(Erd-3a89 wea)

(Long Answer Type Questions)
14 TR 3R % Yo 15 udl 1 e 76 B, fre nai @@ a, =3 +2m 8 1 (3]

¥ Find the sum of first 15 terms of arithmetic progression, whose n term is
a,=3+2n.
JAUAT/OR
o gu 3§ 60 U8 ¥ AR I YoM U auT Hfa9 g HAEA: 79U 125 g,

at g 32 9f vg @ FifT | 3]
There are 60 terms in an arithmetic progression. If its first and last terms are
7 and 125 respectively, then find its 32 term.

387 fargait (4, 0) 3fK (0, ~8) Y firem et Vv 1 4 R i # Fif FE
MING SREY N 3]

Find the co-ordinates of points which divide the line segment joining points
(4, 0) and (0, —8) into 4 equal parts. https://www.rajasthanboard.com

AU/ OR

frg A% Friwis w0 FIRIY, & AB T g0 F1 =M 2, Fe %5 (2,-3)7
Tt B fdwiss (1, H) % | 3]

Find the co-ordinates of a point A, where AB is a diameter of a circle whose
centre is (2, —3) and co-ordinates of B is (1, 4).

" firg Sifv fr @ aFdE ga1 92 ga Y S0 S 91 9 B v F 2, T
fag w gmfgnfoa 2t @ | 3]

Prove that in two concentric circles, the chord of the larger circle, which touches
the smaller circle, is bisected at the point of contact.

Fyar/OR
firg ifvre for e forg & gu w @i T8 woel Yaratl i oA sum AR 21 (3]
Prove that the lengths of tangents drawn from an external point to a circle are equal.
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AT e T e 1 e T i | 13)

x | 5 | 6 ] 7 [ 8 ] 9 [10] 1N
f 5 8 9 12 6 6 4

Find the mean of the following frequency distribution.
X 5 6 7 8 9 10 11
f 5 8 9 12 | 6 6 4

et/ OR

afe i g %1 Arem 77, @ P AW @ HIC | 3]
X 2 5 P 9 10
f I 5 4 7 3

If mean of the following distribution is 7, then find the value of P.

X 2 5 Ps 9 10
f ] 5 4 7 3

@uE - ¢
SECTION-D
(FraeTees we7)

(Essay Type Questions)

18 & G % S ol H 1808 | DI T 1 I TSt T H IS A |
QM &I T HIFT |

The difference of squares of two numbers is 180. The square of the smaller
number is eight times the larger number. Find both the numbers.

[4]

e/ OR

1.'5-,1“
2l SHUTTA YFTeHe QU STd hifae, fms ot &1 9 365 81 | 4]

Find two consccutive positive integers, whose sum of squares is 363.
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1

1 +sinf

Prove that

1

1-sind

1+sin@

| —sinO

= 2sec20

= ZSECZB-

31Er/OR

frg Hifsre

sinZ6cose + cos>0 + tand sind = sech

Prove that

1§

$in20cos0 + cos30 + tand sind = sece.

}Q/ﬁmma’awmmmﬁﬁm

D)
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i 7-17 | 17=27 | 27-37 | 37-47 | 47-57 | 5767
HREERAT 22 18 20 12 15 13
Find the median of the following frequency distribution.
Class 717 | 17=-27|27-37 | 37-47 | 47-57 | 571-07
Frequency| 22 18 20 12 15 13
3re@at/OR
£y ST W2 1 TgEH T HC |
ol 211 | 11-20 | 20-29 | 2938 | 3847
TR 15 16 17 12 [
Find the mode of the following frequency distribution,
Class 211 [ 11-20 | 20-29 [ 29-38 | 38- 47
Frequency 15 16 17 12 |

4]

4]

4]

[+


https://www.rajasthanboard.com/

